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(11) Is it efficient to have different amounts of

reduction by different firms?

(i) Would the tradable pollution rights method

~ work in this situation? )
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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.
2. Answer any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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(a) The government of country A takes to wéalthy

citizens and uses this amount to distribute to low
income families. What kind of tradeoff is likely in

such a situation? ; (6)

(b) Give one example each for the following

principles :

(i) People respond to incentives.

(ii) Governments can-sometimes improve .

market outcomes.

(iii) Rational péople think at the margin.

af (4+4+4)
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(b) Explain the free rider problem. (8)
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8. (a) How is the deadweight loss of a tax, related to

the size of the tax and to the elasticities of demand

and supply? j ®)

(b) If observers feel that the level of pollution in our

_cities too high and needs to be reduced.

(i) Is the “command and control” approach to

reduction the best one to use?

P.T.O.
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(b) Find the price paid by consumers and the price

received by producers if per unit tax of Rs. 10 is _

levied on the consumers. (10)
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7. (a) Define public goods. Give one example each of a
private good, public good, club good and common

resource. (10)
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2. (a) Give one example each of a positive statement

and a normative statement. : 4

(b) Explam the principle of comparatlve advantage

with an example. (6)

(¢) In the context of strategic games, deflne strategies,

payoffs and rationality. (8)
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3. (a) Suppose the price elasticity of demand for good X
is 0.4 in the short run and 0.8 in the long run. If

the price of Good X rises from Rs. 8 per unit to

Rs. 12 per unit, by how much does its quantity

change
(i) in the short run
(i) in the long run

use the mid poiht method for your calculations.

(6)
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¢ Gis '(a) Given the following demand and supply curves,

find the equilibrium price and quantity, elasticity

of demand and elasticity of supply at the

. equilibrium point.

Demand curve Q = 300-P

Supply curve Q = 2P (4+4)
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the demand for orange juice or could it be'damage
to the orange Crops in the Country due to

hailstorms? Explain using diagrams, (8)

(b) Show the equilibrium of a country that exports

good X to the rest of the world. Is the Consumers -

surplus higher or lower after it starts exporting X

compared to the pre trade situation? Js producers

- surplus higher or lower in the post-trade situation :

Compared to the pre trade situation? What about

the total surplus? - (10)
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(b) If the demand for X is elastic then will a reduction
in its price lead to an increase or decrease in the

total expenditure on X? Explain. (6)

(c) What do you understand by price gouging, give an

example? j (6)
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4. (a) Use a diagram to show the effects on emp‘loymenf

and unemployment of an increase in the ‘minimum
wage. Will the total payments to fabor increase of

decrease? ‘ : (6)

(b) Explain the relation between clasticity and tax

incidence in brief. : (6)

(c) Draw a supply and demand diagram to show the

effect of a fall in the cost of produc'ing laptops on

the
(i) price and quantity of laptops.
(i) consumer surplus

(iii) producer surplus (6)
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5. (a) If we find that the price of orange juice has risen

and there is an increase in the quantity of orange

juice, could the reason for this be an increase in
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